(1TEIFEm) 1w

BRXNS—HE W) (FA) A=20.0 2

= <
LA

———, e

%‘7 ~ 10000

7 =

@?ﬂiﬁg@ PERTY ==

E -z e

[

S R T E X

$=1:50
3000 3000
2000 2000
SR PRI SRR
4 I
\LDJ‘ A T As ‘
o ) XERTET S
FHIEE MEMIAEIS
BREBIANABKRRUVEHABFAZANEIER
ZTERLHE CFF) BHIH
BRRANS—HEW) Gk AR NS —HEN) FE)
T vEIT-RE ML E TV EIT-RER UL BIEFRS TS EER/NEERUEHAMETH K
HEOESE TEHR - ZEEHER
8 R B R HEES 1/2
5 BB H S
ERAA REIFF BT




(2EIFER) s

SR 111 o ok SR |

ot
30l

~ 20

B) A=27.0 m2

$=1:50

SHEER

SEMRAHS—HEQ) |
M IT-RFERLE

AS'CO

X C ORI (FAIY

XERTET D

I % 4%

HHIFEE MEMXWEIS
BREBMNIMABKRUVEHABFEZAEISK
XBRLEHE (BR) BHEIE

BIEmE RHERE NI R GBS

HEOEE TEE - EEFENTR

® R B = |E&EEE| 2.2
. EHRE S

XS EWMISEBF




